H o coés U 57|
g S B
20 % % =10 48 % = 24
57 % % =39.9 32 % %=19.2
57 x % =122.8 68 % = 40.8
38 % %=15.2 64 % % =512
9 x % =18 3 % %=18
42 % %= 33.6 72 x %=21.6
77 % %= 53.9 4% % = 2.4
28 %=16.8 80 x % = 64
26 % %=15.6 56 % % =112
90 % = 54 91 % =728
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20 x 50% = 10

57 x70% = 39.9

57 x40% = 22.8

38 x40% = 15.2

9x20% = 1.8

42 x 80% = 33.6

77 x70% = 53.9

28 x 60% = 16.8

26 x 60% = 15.6

90 x 60% = 54

48 x 50% = 24

32 x60% = 19.2

68 x 60% = 40.8

64 x 80% = 51.2

3 x60% = 1.8

72 x 30% = 21.6

4x60% =24

80 x 80% = 64

56 x20% =11.2

91 x 80% = 72.8
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